	Revelry Event Designers		IN-0007			
	3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			Fallon Carter Events		
06/21/2024 08:00 AM Install Dates - TBD 06/22/2024 06:00 PM Event Date 06/23/2024 08:00 AM Strike Dates - TBD		PO: Shipping Address: Terranea Resort		Invoice Date: Due Date: Upon Receipt		
00/20/2024 00.00		Catalina Ballroom		Salesperson: Angela Murelli		
Description			Qtty	Price		Total
General						
T	Coffee Tables - Curvy Mir 44"W x 30"L x 15"H	ror Top Gold	4	\$190.00	Т	\$760.00
	Accent Table - Curvy Mirr 24"W x 16"L x 20"H	or Top Gold	4	\$80.00	Т	\$320.00
	Coffee Tables - Monaco - 55"W x 33"L x 20"H	Irregular Brass	6	\$250.00	Т	\$1,500.00
	Platinum Velvet F	vrpentine (3 Piece Set) - Velutto ull Set 8 â8 ØR ig ht - 44â8 8 â8 ØX 160 â8 8 â8 8 L	2	\$550.00	Т	\$1,100.00
	Sofas - Hollywood - Taupo 91"W x 36"L x 30"H	e With Acrylic Legs 8'	4	\$400.00	Т	\$1,600.00
	Sofas - Siena - Off White V 8'W x 36"L x 31"H	W/ Wood Base 8'	4	\$400.00	Т	\$1,600.00
	Club & Lounge Chairs - Lo 34"W x 36"L x 35"H	ondon - Concord Club Chair	6	\$200.00	Т	\$1,200.00
	Club & Lounge Chairs - Pa 31"W x 31"L x 29"H	alermo - Club Chair Natural	4	\$200.00	Т	\$800.00
	Sofas - Stockholm - Light 81"W x 35"L x 26"H	Brown Leather	2	\$400.00	Т	\$800.00
	Club & Lounge Chairs - St Wood Frame 29"W x 25"L x 30"H	ockholm - Club Chair Red W/	4	\$150.00	Т	\$600.00
				Total Gen	eral	\$10,280.00

Description		Qtty	Price		Total
Lawn Area					
	Partial Ceiling Fabric - For T&C Colonnades Off White Gauze flat ceiling panels to provide privacy for guests	1	\$13,500.00	Т	\$13,500.00
	Perimeter Pullbacks - Off White Gauze At each of the colonnade legs to 'soften' the overall look of the beams/ structure	1	\$10,150.00	Т	\$10,150.00
	Curved Bar - New York TBD Design frame color TBD and Fronts Design to pull in the artwork from the invitations 11'W x 3'L x 43"H	4	\$1,250.00	Т	\$5,000.00
	NEW Curved Barback - Metal Frame To wrap around the Colonnade column	1	\$850.00	Т	\$850.00
	Folding Bar - New York 8'L - TBD Design frame color TBD and Fronts Design to pull in the artwork from the invitations 8'W x 30"L x 42"H - Color Change Upon Request	2	\$1,050.00	Т	\$2,100.00
	Sofas - Madrid Rounded - Off White Boucle 94"W x 36"D x 28"H	4	\$500.00	Т	\$2,000.00
	Sofas - Rome Squared - Off White Boucle 103"W x 36"D x 27"H	4	\$500.00	Т	\$2,000.00
	Coffee Tables - Round Drum - TBD Color Design to pull in the artwork from the invitations 48"round x19"h	4	\$275.00	Т	\$1,100.00
	Club Chair - Rome - Off White Boucle 36"W x 35"D x 28"H	4	\$250.00	Т	\$1,000.00
M	Coffee Tables - Curved White 47"W x 16"D x 20"H	2	\$250.00	Т	\$500.00
9	Accent Chair - Aspen - Swivel Off White Boucle 26"W x 30"D x 30"H	8	\$225.00	Т	\$1,800.00
	Daybeds - Rectangular w. Skirt - Off White Boucle with lime green colored piping 36"W x 70"L x 12"H - Color upon Request	4	\$300.00	Т	\$1,200.00
65	Sofas - Santorini Pillow Sofa Middle Section - Off White Boucle 6'W x 40"D x 31"H	4	\$350.00	Т	\$1,400.00
	Coffee Tables - Bruges - TBD Color Design to pull in the artwork from the invitations 60"W x 26"D x 12"H - Can be custom painted	4	\$250.00	Т	\$1,000.00

Description		Qtty	Price		Total
	Club Chairs - Oak Frame w. Off White Boucle 28"W X 31"D X 30" Н	8	\$250.00	Т	\$2,000.00
	Accent Tables - Curved White	4	\$125.00	Т	\$500.00
R	Accent Table - Miami Loop - TBD Color Design to pull in the artwork from the invitations 24"W x 18"L x 18"h	6	\$150.00	Т	\$900.00
	Ottoman Pod 18"D - Assorted Color Mixing of off white with periwinkle blue, pink, lime green, and navy 18"RND x 17"H - Cover Color Upon Request	20	\$65.00	Т	\$1,300.00
	Accent Pillows - Assorted Mixing of off white with periwinkle blue, pink, lime green, and navy	60	\$45.00	Т	\$2,700.00
ľ	Barstools - St. Lucia - Oak Frame w. Off White Boucle 19" x 29" x 39"	40	\$30.00	Т	\$1,200.00
П	Dining Chairs - St. Lucia - Oak Frame w. Off White Boucle	36	\$25.00	Т	\$900.00
	19"W x 20"L x 30"H				
			Total Lawn Area		\$53,100.00
Ballroom					
	Replacement Lampshades - TBD Color	36	\$300.00	Т	\$10,800.00
	Perimeter Drape - Color TBD (instock)	1	\$12,676.00	Т	\$12,676.00
	Perimeter Valance - TBD Color	1	\$850.00	Т	\$850.00
	Dj Booths - New York final design to pull from the artwork in the invitation 30"W x 4'L x 42"H - Color Upon Request	1	\$650.00	Т	\$650.00
	Folding Bars - New York 6' - Design TBD Design to pull in the artwork from the invitations 6'W x 31"L x 42"H - Color Change Upon Request	4	\$950.00	Т	\$3,800.00
	Barback - Curved Alcoves w. Shelves (2pcs) Design to pull in the artwork from the invitations 22'W x 18"L x 10'H	2	\$3,500.00	Т	\$7,000.00
	Sconces - Square Lampshade to match the ones in the ceiling 5"W x 20"H - 25 Watts	6	\$125.00	Т	\$750.00

Description		Qtty	Price		Total
	Pedestals - Round 40" X 32"H - Color TBD For the Floral display inbetween the booths 40" Diam x 32"H - Color Change Upon Request	2	\$200.00	Т	\$400.00
	Curved Booth - Boston Channeled Taupe (4pcs) 6⤠© 10 ₩ 3⤠© 2 X 3'3H	6	\$850.00	Т	\$5,100.00
	NEW Curved Booth - Boston Channeled Taupe (4pcs)	2	\$1,450.00	Т	\$2,900.00
	Coffee Tables - Nesting Tables - Gold Frame	8	\$275.00	Т	\$2,200.00
	42"Diam x 18"H - 31.25" Diam x 16"H - Can be custom painted upon request				
	Ottoman Pod 18"D - Assorted Design to pull in the artwork from the invitations 18"RND x 17"H - Cover Color Upon Request	32	\$65.00	Т	\$2,080.00
	Accent Pillows - Assorted Design to pull in the artwork from the invitations	24	\$45.00	Т	\$1,080.00
	Barstools - Tangier Channeled - Taupe Velvet 24" x 24" x 38"	24	\$30.00	Т	\$720.00
	Dance Floor 28'D - TBD Color Design to pull in the artwork from the invitations	1	\$6,500.00	Т	\$6,500.00
			Total Ballroom		\$57,506.00
ervices					
	Initial Design Proposal - March 15th Includes Simplified Color story design pitch with images	1	\$1,500.00		\$1,500.00
	Installers: Install Friday	12	\$550.00		\$6,600.00
					Ş0,000.0C
	Installers: Install Saturday	12	\$550.00		
			\$550.00 \$550.00		\$6,600.00
	Installers: Install Saturday	12	· · · · · · · · · · · · · · · · · · ·		\$6,600.00 \$6,600.00
	Installers: Install Saturday Installers: Strike Sunday	12 12	\$550.00		\$6,600.00 \$6,600.00 \$2,500.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck	12 12 5	\$550.00 \$500.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck Trucking: Fuel Surcharge	12 12 5 5	\$550.00 \$500.00 \$85.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck Trucking: Fuel Surcharge Manager: Onsite for (2) Days	12 12 5 5 1	\$550.00 \$500.00 \$85.00 \$1,900.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00 \$1,500.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck Trucking: Fuel Surcharge Manager: Onsite for (2) Days Manager: Design, Layouts & in-House Production	12 12 5 5 1 1	\$550.00 \$500.00 \$85.00 \$1,900.00 \$1,500.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00 \$1,500.00 \$850.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck Trucking: Fuel Surcharge Manager: Onsite for (2) Days Manager: Design, Layouts & in-House Production Dance Floor: Labor & Delivery Custom Artwork: Printed Decal Materials & Labor	12 12 5 5 1 1 1 1	\$550.00 \$500.00 \$85.00 \$1,900.00 \$1,500.00 \$850.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00
	Installers: Install Saturday Installers: Strike Sunday Trucking: 24'L Box Truck Trucking: Fuel Surcharge Manager: Onsite for (2) Days Manager: Design, Layouts & in-House Production Dance Floor: Labor & Delivery Custom Artwork: Printed Decal Materials & Labor TBD on Final Designs Custom Artwork: Hand Painted Details	12 12 5 5 1 1 1 1 1 1	\$550.00 \$500.00 \$85.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00 \$2,500.00 \$450.00
	Installers: Install SaturdayInstallers: Strike SundayTrucking: 24'L Box TruckTrucking: Fuel SurchargeManager: Onsite for (2) DaysManager: Design, Layouts & in-House ProductionDance Floor: Labor & DeliveryCustom Artwork: Printed Decal Materials & Labor TBD on Final DesignsCustom Artwork: Hand Painted Details TBD on Final Designs	12 12 5 5 1 1 1 1 1 1 1	\$550.00 \$500.00 \$85.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00 \$2,500.00		\$6,600.00 \$6,600.00 \$2,500.00 \$425.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00 \$2,500.00
	Installers: Install SaturdayInstallers: Strike SundayTrucking: 24'L Box TruckTrucking: Fuel SurchargeManager: Onsite for (2) DaysManager: Design, Layouts & in-House ProductionDance Floor: Labor & DeliveryCustom Artwork: Printed Decal Materials & Labor TBD on Final DesignsCustom Artwork: Hand Painted Details TBD on Final DesignsCertificates: Flame Proofing	12 12 5 5 1 1 1 1 1 1 1 1	\$550.00 \$500.00 \$85.00 \$1,900.00 \$1,500.00 \$850.00 \$2,500.00 \$2,500.00 \$450.00		\$6,600.0 \$6,600.0 \$2,500.0 \$425.0 \$1,900.0 \$1,500.0 \$850.0 \$2,500.0 \$2,500.0 \$450.0

Description	Qtty	Price	Total
Equipment: Flat-bed Golf Cart	2	\$1,250.00	\$2,500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$120,886.00
Note: Dries to delivering and nick uppall invaigns must be new in full	Total La	bor/Services/Misc:	\$38,325.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	W	/ear & Tear (6.00%):	\$7,253.16
		Packing (3.00%):	\$3,626.58
Notes		Taxes :	\$11,484.17
		Discounts:	(\$0.00)
		Total:	\$181,574.91
		Payments:	(\$1,500.00)
		Balance:	\$180,074.91